Fraction Computation Form A

1. Find the sum. Write the answer in simplest form.

2+l= 3+i= 7 + l:
6 12 10
£+i: E_I_i: _+_=

14 14 9 9 16 16
242= Pyt LA
3 8 4 5 10 20
2+4§: 12+ 5= 6=+ 2 =
21443= 3+ 6= 7-4+22=
5 s 2 %2
3l+232 4E+ 3l: 51+3§=
4 6 7 3 6 8
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2. Find the difference. Write the answer in simplest form.

6_2_ 5 _10_
7 20 20
4_2_ 4 1 _
6 8 5 8
3_%: 5——:
7
4 -23= 6 -32=
5 7
74 _32 _ 42 o1 -
11 " 11 12 12
82-32= 52-1=-=
6
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8 6
12 12
3 1
7 10
4 - —=
3
10 - 5=
8
6 4
52 _ &
10 10
4
10- - -
6
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Find the product. Write the answers in simplest form.

4x3= 2 x6= 2x > =
5 10 10
13 9
_x== —x —= —x <=
4”8 10" 12 14
23x4= 3x61= 7x23 =
5 8 5
4x23= 3x5%= 22x5=
4 6 4
23x43= Fxe6i= 7ix23 =
57 "4 6" 8 27 %14
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Find the quotients. Write the answer in simplest form.

3
2+== — = 5=
10
3.3 _ 3. 4 _
4 4 7 6
1 3
4—+ = 4__3_
4 15
3 3 3 1
2=+4=-= F+6—=
5 4 6 8
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3
S+ ==
10
3. 2
4 5
3
2—+ 4=
14
1 3
7-7 2—=
2 14
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Fraction Computation Form B

1. Find the sum. Write the answer in simplest form.

3+== 4+ 2= 8+ ==
7 10
£+i: E_I_i: _+_=
14 14 9 9 16 16
242= Pyt LA
3 8 4 5 10 20
2+4§: 12+ 5= 6=+ 2 =
21443= 3+ 6= 7-4+22=
5 5 2 2
31422= 42+ 31= 51433=
4 6 7 3 6 8
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2. Find the difference. Write the answer in simplest form.

6_3_ 41
8 8 15 15
5.2 6_1._
8 6 9 3
4-2= 7-2=
6 7
5-33= 10 - 22 =
4 9
102 _42= 52 2 -
9 "9 10 “10
7% _31_ 62-11=
6 3 8 4
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10 12
4 2
5 10
8- -=
3
12 - 7=
6
6 3
9L _ =2
11 11
5 2
g=> _ =
10 5
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Find the product. Write the answers in simplest form.

5X§: Ex7= 4x 3=
4 6 9
4 2 6 7
-X-= -X —= -X — =
578 8" 10 10
3=x5= 2x51= 2x3%=
6 5
4x23= 5x22= 3Ex3 =
4 5 6
33x2i= Fx6i= 4ixs53 =
5 6 6° 8 27710
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Find the quotients. Write the answer in simplest form.

3+i= Z+2=
8
3.2_ 1.3_
8 4 5 6
5=+2= 53+ 3=
9
10:+52= 62 +3~=
3 4 6
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IV

N

7=+ 2-=
6
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